28,65

6282 IR
80'82
AMOQNE3ZHd OIINOM £2'228+0 W 80'82| 80'82 8.1z
§
@
T
i
v0'82
/MVHd "HLS AMOWYHE QZVrZ S9'SLE+0 W) 2672 SoGH
8g8'/z | 0L'L2 80'E}
[ap]
IV 3 ey G’
[=]
S
i
\ 5
[=)
=3 N8 =)
=N S z
| 8972|0972 | g Vo'16
/ 8
o
Il
- JE
[}
8
Il
| 0822 e S8
I 1872|0922 / 6108
08‘17 - T
V/ vman u1S AMOWVHE QZVrZ vr'9Le+0 By 98'le £ E g8l
I 06z|0622|S B §| [vrer
o KTID N~
982z e6z|0622|d A S| [verz
S || VMVHd HIS AMONVHE AZVIZ ¥v2'vLe+0 wy N
[=¢]
QY
1612 16'69
£
' =N & 6v'99
863|062 |X 3 %
Il Il
-
S6'22 08’19
<
529
owok
< 0
OB
7 q TR0
68'Le E'YS ;85 I~
00'82 Lﬁ‘.?ﬁn”:
VIMVHd ‘H1S AMOWYHE AZVrZ Z6'051+0 Wy 98'/2| 0L'Le 16'0G x>3
18'2| 0.2z YLy
§
<
o
¥
i
U
N
96'/g £ E 96'L1
< —
S
3l |=8 T\r
N N 2l =
VMVHd H1S WvHE QZvrZ S LLL+H0 Wy | S22 OV‘LZ§ € Sv'LL
o 8
- ©
Il Il
— o
8G8'/¢c v6'y
-
L 06'22
IvMVHd "H1S AMOWYHE OZVIZ 05881 +0 W 082 0588
[vma HLS AMONVHE szr'zge‘geLotleéu c8lz| 08z 9808
£
<
©]
o
Il
-
5062 E E 81’0/
S o
=) ) S /6
o . 01'8g A
& VMVYHd ‘H1S AMOWYHE GZVIrZ 0p'v9L+0 W e
L0'sz| OF8e| & c 09%9
80'sz| 00'82 | = § E E| oy
TOne N
. - ol =
10'82 I | €069 [Tl
- O~
£ owos
o < ) 10
I © DA~
< DO -
wn ;oo-.— -
i 281
e I e
E e >3
e g
L &
I Il
- =
86'/2 | 06'22 e
€
[aY]
Q
<
[Te)
Il
—
282 ‘
VMVHd ‘H1S AMOWYHE OZVIZ ¥8'L2 ) +0 W 887z | 0822 v8'72
08'/2 ‘
/M3 "HLS AMOWVHE QZVrZ 29% | L+0 W) 087z |02z 2971
&
e
o
¥
1]
Tlee SL'lZ 29%
=N e\ e —
N
o VI'Z 818 e
2| He.2 T\
g GEY 0Ll S
= VM3 'H1S AMOWYHE QZVIZ 99'28+0 W stigoriz|c e cL 96
3 5 [8
ST
Il
1 98'/z - 05's8
OCLZ 98'/¢| 0222 E £ 28'sg O
VMIT HLS AMOWYHE QZVIZ 99'28+0 W 88772 RN IETL $£§E
/o DO
06'22 ‘ = o v
VYMI1 HIS AMOWVHE QZVrZ 8'€8+0 W 96'2Z| 0622 E\ g 18%8 =22~
5 [F 3 B35
<t 1 Il
N >3
8062 i | |avez
- (Y]
@)
T
Il
-
05'82
VMVHd 'H1S AMOWYHE ZvZ 08'69-+0 W Sz'se| 09'82 08'69
‘ 08'g9
1€'gz| 08'8¢ E| sv'e9
N~
S| 8119 O~
i 233
g £ ; —WL05
0g'8z 058 § & O I ggé‘;;‘
g i d D [eo]
VMVHd H1S AMOWVHE QZVI'Z 5555 +0 W va'8e) og @ DNy | |99 %gl‘ﬁ
- (e
09'82 ¥
1962 5 & T tos
83 0g'L¥
TN
or'sz 19'8g z - 652y
VMVHd ‘H1S AMOWYHE AZVrZ 52'zv+0 W 19'82| 05'8¢ seey
£
[}
w0
[aY]
<
]
)
Sio®
o
iz
05'82| 05'62 Iz Sl
Lnor)E
£ I3
S x>
[
3 b
2% i
9T 00zt
05'82
VMI1 HIS AMOWYHE QZVrZ 50'8+0 W 7r'8| 0582 R 508
05'82 & any
VYMIT HLS AMOWYHE 0ZVrZ §5'+0 W avee| 058 + [T OB
- =S
BO’JCD
0v'8z| 05'8e P!l
LM<
I i
[=} ><>—<
3 e
& W m
< — >
| Blo|lm| &
zle|lZ|2|&
L X L = —
D | oo z = O g
i} e} Ll E pn o
4l ol F | E Q| E
Z| €|l w |z | 2| A @
8 o = w L 8 s
Ll [m] = => 4 O
b= I B T I s e
®) B o w w O | X
N| N
@] o
o




